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1)
a) vcc=Rd*Id+Vds+Rs*(Id+Ig-Iout) => Ig=Iout=0

vcc=(Rd+Rs)*Id+Vds => Vds=vcc-(Rd+Rs)*Id => Id=(vcc-Vds)/(Rs
+Rd)
b) Vin=Vgs+Id*Rs => Id=(Vin-Vgs)/Rs => Vgs=Vin-Rs*Id
c) On cherche Rs avec Vgs=0 et Vin=0 => Rs=(Vin-Vgs)/Id => Rs=0
d) On cherche Rd avec Vout=0,5 et Id=175µA

=> vcc=Rd*Id+Vout => car Rs=0 et Vds=Vout car Rs=0
=> Rs=(vcc-Vout)/Id => (5-0,5)/175x10^-6 = 25,7Kohms

2)
b) Id=0 => Vds=4,5 Vds=0 => Id=194µA



c) Vin=0 => Id=0 
=> Ig=0
=> Vgs=0
=>Vds=5v

d) Vin=5 => Id=170µA
=> Ig=0
=>Vgs=5
=> Vds=0,4

3)
a) Vout1=Vds => Voir valeur ci dessus
b) Vin=Vout1 et Vout2=Vds => Voir valeur ci dessous

=> Fonction NON


